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destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
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∥∥2

L2

≈ ϵ2 :=
1

N

N∑

n=1

(
g(x(n)) − ĝ−n (x(n))
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[Ĉ(a⋆,Θ⋆)]nn

}2

.

a⋆

Θ
⋆

a Θ 1 ≤ n ≤ N

L(a,Θ) = L−n(a,Θ) +
([C̃(a,Θ)]Y)2

n

[C̃(a,Θ)]nn

,

[C̃(a,Θ)] = [C(Θ)]−1
{
[I] − [M(a)]([M(a)]T [C(Θ)]−1[M(a)])−1[M(a)]T [C(Θ)]−1

}
,

L−n(a,Θ) L(a,Θ) N − 1
X(−n)

a⋆ Θ
⋆ {(ai,Θi), 1 ≤ i ≤ N }

N a Θ L

1 ≤ n ≤ N a⋆ Θ
⋆ a⋆

−n

Θ
⋆
−n

(a⋆
−n,Θ⋆

−n) = arg max
(a,Θ)∈{(ai,Θi), 1≤i≤N }

L−n(a,Θ).

ϵ̃

∥∥g − ĝ
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L2

(ê2
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